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U.G. 3rd Semester Examination - 2019
MATHEMATICS
[HONOURS]
Course Code : MATH(H)CC-05-T
~ Full Marks : 60 . Time : 25 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.
Symbols and notations have their usual meanings.

1.  Answer any ten questions: 2x10=20

i)  Use sequential criterion for limits to show that

~ the following limit does not exist-
e
lim—sin— |
x—0 X X

il) Give example of function f and g which are not
continous at a point c€R but the sum ftg is

continous as ¢.

iii) Using &-8 definition, show that

li [—"—]=1;
X X

oo
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